
ERRATA CORRIGE: 

MMSP di A.R. Bibbo 

 

Le formule riportate vanno lette come segue: 

 

Capitolo 1. Statica 

1.3       � = ���� + ��� + 2�� �� cos
�� 

 

Capitolo 15. Motori a Pistoni 

15.4     ( ) ( )1 cos 1 cosx R Lα β= − + −  

15.11    
2 2

cos 1 senβ λ α= −  

15.15    
dX

V
d

ω
α

=  

 

ERRATA CORRIGE: 

MMSP di A.R. Bibbo 

 

Le formule riportate vanno lette come segue: 

 

Capitolo 1. Statica 

1.3       � = ���� + ��� + 2�� �� cos
�� 

 

Capitolo 15. Motori a Pistoni 

15.4     ( ) ( )1 cos 1 cosx R Lα β= − + −  

15.11    
2 2

cos 1 senβ λ α= −  

15.15    
dX

V
d

ω
α

=  

 

ERRATA CORRIGE: 

MMSP di A.R. Bibbo 

 

Le formule riportate vanno lette come segue: 

 

Capitolo 1. Statica 

1.3       � = ���� + ��� + 2�� �� cos
�� 

 

Capitolo 15. Motori a Pistoni 

15.4     ( ) ( )1 cos 1 cosx R Lα β= − + −  

15.11    
2 2

cos 1 senβ λ α= −  

15.15    
dX

V
d

ω
α

=  

 


